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A. Fill in the blanks, ¥ I —
1. Cellis the structurg and f <urke (A) }D. " Label the following diagrams.
living organism, Netlonal unit of \ oy
-{—Jnd) J ¥ -
g, Centriole is p,eséﬁ“‘fn ‘X’n%tfuw\,,:u Qa\ @ /):
bou o smal cell, Y o /==
5. Cell membran;ﬁs 't&}se‘f)‘#c%diﬁ (2! o
in animal ce]), uter R COVEl‘lngE P oon [ATTE LSty o
s L, 0 \ .
4. EI{SIena isa % o B&U:Ts;ndfd’u @3 :
5. Plants store food in th.:;:zl‘t‘: £ e - (45 : )
~U."L):2.iu: ,ln;_ﬂ'° E.  Answer the following questions. ?
b. Choose the corr}ct answé;;r_ Jn‘"_’{ (5i -u.‘%.-,!,lzéamrd_’i?/’ (E
~LIPN 2B 2 e 2 \ QL. What will happen to a person whose
1. Muscle is a type of il @ = respiratory system is not properly :;’9 e
. i GO oAl B S, B RS S 1y
a) Cell.t b) Tissuev o3| =Ans: Respiratory system helps in the
¢) Organs d) System \ production of energy from food.
2. Abranch on a stem i apartof system E If a person's respiratory system is not
e Ty 2‘. property working, he will be unable to
g) RootZ D) Branchvipe \ ~ obtain the necessary oxygen for the
c) ShootZ d) Conducting > E production of enérgy from the food.
3. Which system of your body is responsip] \ Because of lack of energy, all other systems
for the transport of digested foodo i E of hjis body will not work properly.
.q..br(}-’ﬁf-{b}pﬁf"rwufrﬁéuf 3 g J‘?W gpf f'-q_t":u.uf SN o bcjtl?r_.ﬁjuy (15 Wl
8) Digestive system pligiols v A Ze o Tkl L A §ti7e Snie AP
b) Circulatory systemv ﬂfwb»rlﬁ HJ”LX‘?V:..J)-._OJ"(W(_ /»L(’Zél;._mﬁﬂ; Jtl?;,l(é, S
¢) Respiratory systen_uf_“rls} ' \ ' -[_u; '
d) skeletal system 157 §Q2. Describe the basic organization of a
*  Brain controls the body just like the | . Multicellular organism? PO
controls activity of a cell. g L Sokd (-,',r,L(f’JU,Mw,I:,:f 22U
-4t/ ... VP L AL (4L ADSiThe basic cellular organization of a
8)  Mitochondrial.2¥3(\ b) Cytoplasmesiy #1. #multlcellular organism is as under,
¢)  Nucleusi/pv d) Ribosomes pvél, ‘Cell->§ tissue—> organ——> organ system
5. Which instrument can help to see amoebag SERHIsM. : - ™
clearly, e thadleaf 2 Ol 5y T e L e
8) Hand lensv < b)Microscope ot ; 4"‘3'@&_*-%" > —>.ul
¢ Telescope. d)Both b and ¢ e2ibug y Q3: Differentiate between an animal and a
C.  Match colu;nn A with Col fe = B e
Column A %u;n o A YEOILLL e g EL iy 3y
Sk olumn B || Ans: Animal and plant cell have the following
'.-'H ¥ = differences.
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In animal cell, the outermost covering i{s3 5.
cell membrane while in plant cell, the

(1)

I I S S ST % g gy,
-ul/s

A
we can smell odorous substance throygy,

vapours. '
their Lﬂ'&“t’)’;&l{"L’uﬂ s

sl EL sy e Ind b2 dadELundy

. e Ungaf# B.
(i) In animal cell chloroplast is absent while In §
plant cell it is present. a
tesrg 2 EL sy £t fieuft EL Undl i\

(iii) Centricle is present in animal cell whlleg a)

R EL sy fe tmrrli P

outermost covering is cell wall.

absent in plant cell.

i

FLyudl (lli)! 2.

N\ e el LN

-
select the best answers for the followin,

questions. % /uﬁry,,,gf;_-,yzié, ®

We can senseé &errent stimull due to

) ditere LT

ol D) Bloodey?
Sense organse-u d) Nutritionis

nty#t
¢) Environmentd s are located on

............

2V

: gl
(iv) Animal cell have large number of smallg ey 7 - b') Scleral
vacuoles while plant cell have only one\8) Chorr:ﬁf. &) Retinaki
~large vacuoles in the middle. \9 rlrr;se optic nerves behind the retina take
ELos fulmlhfiALAgELle NN (o5t the
e trozrfo Qi iy N _{__;-g:ff.._,wdﬂéﬁb.ﬁ: @3
(v) In animal cell, the nucleus is at the middle.‘ 2) sl * p) brainv Lh
while in plant cell it is at 2 side. N o) ear o d) noseJt .
Sk EL sy .,ﬁq- fﬂ(ﬁU?J)t%’J Lyl . {v) : 4 Hearingis helped by q.(I:utﬁ:: (4
g bng¥ = V) Optic nerve el ,
Q4: Draw the diagram of a microscope andhb) Auditory nervey .._,Md/.ﬂ
name its different parts. p . .N¢) Sensory nerve 107
' -U-thﬁur"—ﬁf—'”’d: k( VBifutn? d) Motor nerve A
e prebes o { c. Label the following diagrams.
s ahde i i . :
3 S 3
Joguns _foe 0/ ‘
e
V= |
-~ i Answer the short questions
. D. nsw .
\ | SIS
""" Chapter Lot §Q1. Explain how we see different objects and
...... ’ ANS.- pictures. e
uﬂ-‘“l-'-a-d HAns: Wwhen light reflects from an object and
EXERCISE-- y enters the eye through the cornea. The
"""" /J r‘dﬂ (A g lens in the eye focus this light on the retina
A, Fill in the blanks. wy el } and an inverted image is formed on the
1. Receptor cells are present in sense organ = retina. This image is sent to the brain
"‘L’Lgas'}:ﬁ'u"&)’é uyds (1 § through optic nerves and brain gives the
2. Talhle :ja%ertpf the eye that has sensory cell lsa sensation of upright image ‘?f t'}at ;t;{;gt.
called e21niA % fT? d;f;flu_)‘-'lbb/ﬁ e e
W e p 2t > T (2 ] fu’uu‘L/mﬁfJ = L .
& ‘ ?—JL[LL‘-H‘:U)U:JJ”JI : ‘Lub’ld/-’(fi-atbh‘fr I}'l.ﬁ{l'é-uﬂ.q_&:f}[ﬂ@‘:
3 Vibration of ear drum is due to sound == = s C <
waves. 1 -t/ V'raﬁ’(f!t;f Ut walq_Cﬁ..f Lz
4__,3,,;, usdd e iy lof (3 2. Why do we m;‘t feelhthe ctla.:te-bt':vtf:’a bitter
4. The sensation relating to sour and salty almond till we have chewse |}fi{l : s
tastes are received by receptor cells (’*—Ee-"-éfu:'ld/fy’lﬂ»"’“’r"k—-’ -'(flf
located on the sides of the tongue. Sl
Jf’ -Taste buds for bitter taste are located on

P2 WIE i E S S s

"""’”"”"""""”'

*fu ,-,léf

(4 Ans

the back of the tongue. Therefore to judge -

"""”"""""’"”""”"‘
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IAYS 50 Cho‘: :?“' (\' 1“ Dltter ‘"::r::‘r_ "-l‘hn f';l'—t: buds for the gweet lle at the tp

buds fo « 8o '’ VY y taste ! .

AN 'J’ll] J‘(L‘rn‘:.l-"thgni"‘ fre '41|mn‘lr:\'1 p';:" thnte § of the tongue. Lo }J'A..V_‘L'Ii—ftf’}/‘{:
o= '-’-_'- 1% ‘,_'.' )5 Iyt ~U:L,”gy'{1__/-‘v ‘s taste lle at the

J/)}'”‘/""l".’rtﬁ"t;“kl‘lh' l'l:l 'x;:.“: d-.L LRIy 8 The taste buds for the salty

~ l?-h/(lskﬁf,fl?f base of the tongue. $ _/L“L/J//}_Ll;'g:{)

Q3: Why do we fing tea t L b ..u?Lmh’xx&dknLUp)‘-' % te lie at the

have gaten swe orocbedta“e'ess after we “The .tn::t'r- buds for the s0ur taste 1€
fedwen iz .1’ Andies? iy P
Ans: Wh'cn \V: Cl:i'. ;vku"q"fél—wupt!dw g pides orut;lz:,o’r;%)’éU‘J;A’_V:L,,L/J//:;‘}thée
tasteless buds o :Srti OF candies, the The taste buds for bitter taste He

for the sweet ¢ ONRUE respong|p) . g
feel the sensau:,s,tgf‘;';:esttlt lated anq wz bac“;g:;ﬁ'zué; £ ik _.,_,2,:,}_/4./// & 13

if we take €l taste. Ao -l of hearing. .
SUT tazte b‘ﬁg.s l: r:mllbc tastelegs be;::l‘::q Q3: Explain the mechanism Sl J. J’L =

already st -

.c.an.c.iifsé)’r Sweets, Imulateq by Ans: Machanism of Hearing: the pinna. It
Jfa‘-"‘{"’“ = Vb2 O]9 Sound waves are collected by d

. GJh;‘JzLU’ . J ) n these soun
"‘V"QL f:{“"’ddﬁd lec b, vty “("=2 | carries them to the ear canal. Whe tions
Vig "-“-.a.’i..".»‘,z;j:,&rmw"wf i Ll s Y waves strike the ear drum, they cause ":g:am‘; !
Y q""'-’"ﬁ-‘i-d{d/(g : in 1t. These vibrations are passed on tt;l s
E.  Answer the followin 'U"’.L"é”J/ézJLi“ny bones in the middle ear. The e
9 Questions, transmit the vibrations to the 1frlmi§r o

~V= =2l & iy }3.,,.00 | the vibration enter the cochlea fluid,
: Describe U g VAR )

Q1 the structyra tiny hairs vibrating. They transmit the sound

of the hy
U eolafess 13

eye.
.=
Ans:Human Eye; deUr

Ur g\

Of an eyeball, The eye

: - The eye bal\
wing three layers, 4 {

Egcrff.?_dm}’f{dg(}ffrau, \
O 20t E S e
() Sclerotic Layer: .;J’l}':q- J’?ungd:ely
This is the outermost white part of the eye
This layer bulges out to form a thin anci

consist of the follo

J;Jf_g_ t‘/ca‘ﬂnﬁ

"L

transparent structure called corneg, H
e A 2o g oot
~Uie I;'/b’cl{_t'xdli’a’lE-" b

(ii) Choroids Layer: .74/
The Choroids is the middle |

ayer of the eye. \
If is black in colour.

waves to the brain through the auditory nerve..
Thus we hear the sound. : J’b’é:

- LU St Sl ES Sz STEE Y

vj.{'—..-.l}u';l,-u_:L/J'};E@JJ;:.:{.ﬁuffffvf
Jﬁf‘ﬂub’auﬂ:fl’uﬁgcuk-u_?’i'uﬁ:)rd?‘”z."}éu‘“’
u:,z-u_:z.ff/fu);i.f,’z‘_g’,zrupm-,,;_rz"éfél-f—?/f
-t Z T LG5 E Aoz 13 S T B

Chapter 3
PHOTOSYNTHESIS AND
RESPIRATION IN PLANTS
S as e g ga g9 g9l s Slus
EXERCISE

-0t e gpskfT VA Fillin the blanks, g SSuEde (A)
(iii) Retina: ¢, V1.  Main source of Energy is sunlight.
The retina is the inner most layer of thei - Ul lumgsiize ok (U3 (1)
eyeball. It is made up of sensory cells on whichg 2. Mesophyll cells contain 7_LL°h1°r° hyll
the image is formed. Behind the retina are optic | -t Pub LUkl (2)
nerves which take signals to the brain. 3. Epidermal layer in a leaf contain small

u(f?‘fq. brtbee Ux';()):.-q_.i JJJI le -,/Jf T,
-u_.'L?{..-.I.E;..FLbﬁ-uij,.wld/.’ééf&-/-q_
Q2: Classify the taste buds on the tongue, on |

the basis of different tastes.
Ve Siand oz oie 2 Uil 2y
Ans: The receptor cell for taste are called t;astei|
buds,

o L AR L RO RIS

pores called stomata
ki IPu e\l AL A ez | ()
-

4. Normal temperature range for
photosyntlolesis is 02_599. to ﬁﬂc

435 C-25 CeuZan it tfu  (a)

5. During photosynthesis light energy is

converied into Chemical energy.

""""""""'"""""'Ar"""""""""""'"."
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- . b (A — E————————— L Sl -
:‘_“"%! ‘.’Llét!?JL{:QG?;J&,.‘UUMLJtJP (5) qulﬂ“()n. b p
the best answer from the following. - tertis s Vi Fn
L. Plant cell make th r{ O et b Ll g d:;::dc e
Process alled eir own food through a§ Glucose + OXy -}fl/ﬁ.;'lwf‘*d& For, /‘fy{ﬂyf-’\'
SN2 3 n this process oxygen Is produced ag
g)\ Resplrauo:: }{U' IULL*‘J”JU”‘ M seconldnry pro?iuct. This oxygen s used by the
) Photosynthesisv ./t i animals for thelr survival, .
©  Fertilization ‘-}’;3‘3/ z /J;,:»u/d.’-’;mé_! qdwgn_/u.q.dmgfd{ TeS
d) Pollinationg/ =y -u
2. “;:uch of these is not need in the process of { Q2: Explain any three factors needed for
photosynthesis? photosynthesis? -
S Unfd Lo zouey  (2) s JENtin e L G 2y
2)  Sunlight G:uu/bar ' i Ans: Factors necessary for photosynthesis:
b)  Carbon dioxideS Tisee ¥ _ , :J';dz;/"gﬁtdy
¢)  Chlorophyll Some necessary factors for photosynthesis
d) Oxygenv ¢F 1 are given as: , -tz itnfE vl
3. The small pores or openings in leaves that § (a) Light: 5%
take in the carbon dioxide are called. Light energy from the sun is necessary for
Sote T8k s Lurl AL Fizryz-  (3) | photosynthesis. During this process light energy
' +Jvf(~--~~-4_dn . is converted into chemical energy. In dark,
a) Stomataksv b) Lamina photosynthesis does not_ oceurs.
¢) Phloem/ d) PetioleJes \ du3d LS g Gt brd LU
4 The suitable range of temperature fory - edu e te Bt durds
. photosynthesis is \(b) Carbon dioxide: £/ T0ikur¥
.4.—-“.-,/'74:-,/?«4‘-(—5.’?1.;? (4)§ During photosynthesis, plants combine
a) 5°-Ct.o 15°%C b) 1550 to 45°C Hcarbon dioxide and water to form glucose. A
o) 25%Cto3s’Cv d) 10Cto25%C  ydecrease in the concentration of carbon dioxide
5. What is given off by the plant dUﬂngHslows down the process of photosynthesis.
* photosynthesis that animals need? N -tk AL SE AT il esg und L
-@L/J'ﬁ"bjl'vﬁ-u_a' b b/l;yz_;(uwyéd,’l'(j? (5) = ¢ty ff(_éﬁj&;‘_dt; v Jl"lf j.;u 1‘6, 157 1
) Oxygeng™ 1 \ Temperature: =, 72»
b) Carbon dioxidelASTee¥ A suitable temperature ranging from 25°C
c) Chlorophylld’u to 359C is required for the process of
d) Water VapourS:ab(i:dT H photo‘synthesi& )
C. Answer the following questions. :_J_tfd’:,wzs.ﬁzq.dmb’»@:uur.g;!uvg,g.z:.grd_u
L felciintine (C) _ LSS an35
Q1: Discuss the importance of photosynthesis } @3: D'ff’:fe;ﬂate between photosynthesis and
as a life supporting process. respiration. ) .
Ans: Photosynthesls:.ijnj? -2{.-’?&};)&}“ Jc"-i.‘ﬂj?

y

The process during which plants prepare
their own food by converting sunlight into

N

Ans:
Photosynthesist(Ls

Resplratlonm‘

chemical energy, is called photosynthesis, -
S LSSt ST S byt S
-Ujisl_’l’(jy;'u!Lh
During photosynthesis, plants utilize
carbon dioxide and water in the presence of

Occurs at all times in
animal and plant cells

Occurs in the presence of
light and chlorophyll in

plant cells, Yo sl U numdentun]
J J’w( B (L Uy s -
-tk J:;:r

sunlight to prepare their food. This food is in the
form of carbohydrates (like glucose).

S B TS 2 G v syt JL ;_i,JrJy

Releases energy from
sugar

e Bttt t?

Requires energy (light) to
meke sugar (glucose)

q.dﬂa;:f'&ﬁ;é.f.z_kﬁ

J (Jﬁé ) OV 2%7 b’.ﬁ;i._.-u_r L/:l_'r'..f bfg“. & tnl /S
. , .;..t‘.n(ﬁkp

Glucose is formed.

‘Lé‘.’iﬁ

Glucose in b_roken

e A A

This process is shown by the followlng.

"”"..""""’"""""'}'"’""""""""""""
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/____pr_r_'_:-r_“:‘fﬁ:g.... '
carbon dioxide ppng
water are the ra,
materials.
bg_.,;llk‘th/"{'L'rTL‘”cL;\‘
oxygen is m\‘gn out,

¢ Ul A KT
Occurs only in Plant
cell.

("nfhn

n

. a
e Uy NP

Q& What may hapnon ™
on its leaves arq .
vaseline?

ntir an Stomata
$Ing wax or

Ans:If all the stomaty o, the ler

closed by wax or Vaseline u?f of & plant are
dioxide will not be ap)e to enf:er tgn

MW IR L oty oy o0

URL ¢, N
.fé:ﬂﬁj’ Iy 2 LB&T
dioxide s Necessary

oret phOtOS
able to mak,

And since carbon.

stop. Plant will not be
reS:;}t pla‘?t :::'ill welk,
SSardu ~=Etlnd £ ey, ;
-ru,.w/ewc,a_u,:.ra/d&?iﬂfﬁﬁ
...... Chapter 4t .
ENVIRONMENT'AND

INTERACTION

Fill in the blanks,

1. Non living components of

called abiotic component,
-0z Qg iz 3£ Yo, (

2. In an environment Plants are regarded
producers.

-g.ﬂ.vlfoﬁ’l{;f &f (ﬂdillf(f( (ii)
3. Lionisregarded as the predator

-t 06 12 i)
4. One of the examples of parasites in human
is tape worm

- 2Ll M 201 (i)

“LLIoF 8 ()

environment, are

o=

5  Pacteria in the digestive system of human §
being is example of mutaualism.
e Jif E—Jﬁ LA 2 L2l BL Ui (5)
Bl

Choose the correct answer

-q/..,a’lr._,l,:étxayzé{_; (B
Identify the abiotic component in the
following.

LIS 2 AL I S ()

"'m""""""""""'.

. T 9

P i CaC CaCai

b) Applesr
n) Hnn,} eetle fin
©)  Water vapoursetizd’” ) Br,;io organisms
2. The relationship between

neither is
where both are hcnc(lmcd and

harmed (s ealled _ . /' (i

T WY ;;m,,.,_./,/uf,,‘;é’{ ;

Predationg¥)fy by ~Parasitismss
Mutualismv |

none of these /e L0

ent.
3. Thari xample of __environmenz .
e fZ,Jr‘/JJm// (iif)
8)  Tropical rainforeste E2L17 15 (T
b)  Desertfi’v ¢) Aquatic :
d)  GrasslandJ,f1z
is an
4. Mosquito feeding on human plood is
example of: J v 4@ 4
o gl
\(® Predationts, (b) Parasitismv =z
(¢) mutualism i
(d) None of these /e 2/ )
\ C.  Answer the following Questions
suteyzl S (©
Q1: Define environment and identify its abiotic
components. <. )
A s sl Ay S AP AV
Ans: Environment:J#t ‘
The area we live in and all the living ang
non living things in it make our environment.
!Non living things in an environment are called‘ a
abiotlc components. They include sunlight, air,
\ Water, soi, sand, stones, temperature etc.
\ -6 OWUpluiay 2ct sttty oy it LW
E v&/l(f'cd&:lmd'uu:ul-u_f;{,lmd?,_;ft); 25 ,:LJ;Lr
' -G s 2/
HZ. Evaluate the interdependence between
i living things and non-living things.
\ ~EANL it Sise 2P 2
gAns:In any environment, biotic components
H(plants and animals) depends upon. abiotic
components,
\
}

UL Ml Aizde e rigly”
Non living things like water, carbon
dioxide sunlight and suitable temperature is
needed for photosynthesis. plants are the
producers in an environment because they make
food not only for their selves but also for other
animals,'All animals indirectly depend upon
photosynthesis, and photosynthesis totally
depends upon a biotic components of the
environment. .
eSB! Fare 22 T3k sy g sy 4
\ e S L LUt Lninfd L

"""""'A'"""‘.ﬂ"""‘
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e O tate s o indirectly.

; n irectly or
JP{"‘L"Q"“:(U-U.’I—/C‘."JW’&'—'-LU”"‘!‘-—/"'-‘(Ié'?-" { produ';g?r::zf:grl: an environment, If there are

<t m b AL It P e L Ayl

3. Why does vegetation in tropical rainforests
differ from the vegetation in deserts?

-U_-‘LHJ’U{L.UJJ#JI/‘(_,{L.;IK%JU‘L';’u’ 3

'V fc) 7]

Ans:Because of the following reasons,
vegetation in tropical rainforest differ from
the vegetation in deserts.

u
l

T LT ST LS

no producers, no

ﬁl_f‘.ﬁ/f{-/i& At L}qu[ i 5{ 12
) zljl{..ﬁu'.’nﬁ

organism can survive.

fu»{ LU Ld‘uj
Uﬁ:ﬁ&{”‘»bl}!b’,&lu‘f(—/”ru.u_’i

-V
_EnpispVe, /»M'tgnf‘nﬁ@uﬂdﬂu/ﬁ&!
SN Cha pter B

: ATOMS, MOLECULES, MIXTURES

—i’GUN (j'/‘g»’):.aIf’»}JIALIPIB.:—;:J:,}mJ PE
S ' _gLn) AND COMPOUNDS
A _ ~ 5
Rainforest Desert QLQS %) ~’| g0 o ¢ J ‘,_.._S.-"JL‘ tﬁ'
1. Rainforest receive | 1. Deserts are found in e
...... Exercise
alot of rainfall around | dry regions where the ) ¢om the following.
the year. _ |total annual rainfall isj A, Select the best answ:é o iy
dx g Ju Uk £ =182 (U} | less than 250mm. BN U
—— zsowpuwu;_dxﬁyf 1. The symbol used for sodium is __
‘ e nffe Lo e by
5 The climate is warm | 2. In deserts, water is () S (b) Sd (c) Nav/ (ﬁ: I‘; )
and humid through |scarce and humidity inf 2,  The constituent elements of was Vnégu rt:} ;
out the year. the air is very low due are A f? e
.a.dn.,,)/nlr/lm..,f/db to the dry climate. the X (a) Carbon and oxygen ;}}:iwb’
' temperature duringh (b) Sodium and oxygeny" T.ulﬂ}r. .

the day is very highf (c) Sodium and carbony/Eulflr .

| and drops very quickly f (d) Sodium, carbon and oxygen o Ty

during the night, 3. Which of these is not a mixture?

Sistr T c_tnf L2 3 Lﬁ’.}(‘[ggf’f.—_.u!c}l

e by v -
Los-gUndfdline N (a) Waters (b) alr (c)tea (d) alloy

=l c.'alyslg. mefﬂu::'g
R i) 74

3. Rainforests have
dense vegetation.
There are many trees
growing very close to
one another. .

Ul ::lfa i
-.U.A‘ZL_‘}.:‘/:—’JJ"!J

3. Vegetation is rare
and patchy. Plants are
spaced apart. Due to
low vegetation very few
animals can survive in
siu:ch a dry
environment,

Lx;&uuyd'fj,,@ﬂﬁ_,g
(fiteUpemdumyur
Uikl

(a)
(b)
(c)
(d)

4. The soil is rich in
decomposed material
and the rate of
decomposition is

fasf.
d-'d)&lg. dnuyd:‘!d’

4. The rate of
decomposition of
plants and animals is
low.

ﬂl-h J ukb, J’ J u.u)y sung

-t

il oz

(a)

(b)

4. What will happen to an environment having ! (c)

Wl Tl 2o 4y

no producers?

|
\ (d)

Ans: In any environment, green plants are\y
called producers, because they can produce food \ 7.
by the process of photosynthesis. All othera
organism depend on the food prepared by the }

Which method is usually used to separate
coloured substances from each other?
e bW LL St )
Simple distillation®l-
Evaporation &)
Chromatographyv S
CrystallizationiL,
The particles left behind on the filter paper
in the filtration process are called '
Bl nds 121 yd_prry ‘:;}F,d_ﬁﬁ-}l’
(a) Filtrate (b) residuev
(c) distillate (d) none of them
What atoms are found is CH4 (methane)?
Gl nf {CHyL”
4 carbons and 4 hydrogen's
(fu}_f}'lufd)(4
1 carbon and 1 hydrogen's
(fug'&lﬂfwrl
1 carbon and 4 hydrogen'sv
: (fu}f}‘hﬂwrl
4 carbons and 1 hydrogen
JJJJ:_‘HA’MJK4
The correct order for obtaining salt from a
mixture of sand, salt and water is.

L/
.'"'.'.""..""""""'}"""""""""'."’""‘

Scanned with CamScanner



Radia"t scitiice Liass 6ty

fII”” o

" -~

S W
~=\ o -L/L} ‘rho e T

. e Tty . - o - o T ,
(@) dissolving - filtration . nv“w,m”“ﬁv& 2/ M iron OHxyHen W earb ’:mv
s mono
¥ 5 N | Sea
(D) cmpomt.lon . ml.rn“m] . (“SSOIW s g .J_‘ ey ;l—r-;-;;;“""" ,;mllnm w,’)th
ﬂl! t}l. N ’ :ﬂﬂl“:/?)—::/
) = QIS W rass
(© fitration d'f‘olving S N‘nhomtlon = N Calelum diamond i’_’_’_f_f.l;———”r"i’::
{) dissolVng - evaporation . g AUEE Sulphur_} ——"T'milk
( Tration Nitrogen T oressure which of
7 W » s pr
nswer the followi f-,_*-.,_);" 3,  Atroom temperature an
g. A N9 question, the substances listed belo¥/ |$:?/.w'h” e /
How many atoms of the . SHEL i ) L=
) 18 of the diﬁer (e - ;
are there in the formulae ent elements \ (8) @ solid element A:
given below? of the compounds § (?) a liquid elemeht/’étw /
S L () a gaseous mixturesZ U=
. dﬁ Cide c/;v_:ﬁfufu:'rzli[_..;y’,d Savas \ (d) a solid mixture y¢7”
('? Methane, CH » +02 (il) Water, H0 (e) ~aliquid compound .f/éL
(i) ar C' 2H 4 0 (h’)w“egar, CH3COOH (D asolid compound. J/’JJ’
(v) Sugen L12M2201 | (8) A gaseous element
Ans: (h) a gaseous compound
() Carbon doixide, CO2 CopyrTfy,y | Ans: ]
In carbon dioxide there is one atom of‘ Soid | Liqud | Gaseous| Sclid | Liquid 5::_4
carbon and two ;.tOES of oxygen, - H [Elemets nz:ms mixture | mixture [compounds ompOUTCS
(=l = L"[;:rvardzb’u: ,,u ; . Vizrble
§ JERSATIA. Copper | Bramine | Caroon | Steel | O
i) Water, H20  Hy0 . " J,WV‘ Tn | Bebun |doide | ot | wamr |
water has two atoms of hydro merary|ar | tronz
gen and one ! :
gtom Of OXYgen. i - °“e=
-?(:'ugro - TJJI -I”L(.'ﬁ!li‘ 1 ‘
(iif) Methane, CH4 CH4u:’f ﬁ' -W:d&! >
Methane has one carbon at .
nydrgen atoms. ‘ o and fouri.,_ Define the following terms, using specific
' ' lanation:
_u_fﬁz; ".'L‘f" s f:' N cgf' examples to help your exp . .
(iv) Vinegar, CH3COOH CH3COOH f} ] {Ans- (2 H -td,//j’b:;-u)t‘muf-—! i
Vinegar has two carbon atoms, two oxgyen! Element:
atom and four hydrogen atoms. By \ Element is a pure substance that cail not
- a2l u"’f \ be broken down into further simpler substance
c g ﬁ’ﬁ'o e ‘é' AN ”‘f"""‘”iﬁ& = by either chemical or physical methods.
(v) Sugar, L12H2204, 12H27011& \ An element is composed of only one kind

Sugar has 12 carbon atoms, 22 hydrogen
atoms and 11 oxygen atoms.

U H:lll L..-/fffulzz&fujﬂ.lz[,@,m@

of atoms. The atoms of the same elements are
similar in chemical properties. The atoms of
L*different; elements are different chemically from

2. Which of the substances listed below are? j each other. For example, Helium, Gold, oxygen,
! ?q.'l[,?léfa__:{, and sodium are all elements. Elements are
Oxygen, sea water(l ¥..2-, calcium, argon, ) represented by symbols.

water, air, carbon monoxide, iron, sodium § W1 6 anls re B 0L w{fu’( .:’-_q_c‘-(f’l;&l.{!/
chloride, diamond, brassJ%, copper, tea,.ruL A r,m;_u,’clz,(’.,_(t._;//'_ﬁt,gwﬂ;;‘;
sulphur, milk, nitrogen, ammonia. %_.,E,,JJ.;,[ UL /Vﬂ_u_ga,“gﬂvgapﬁég Susl
2.  metallic elements? ~t# )l ; \ N LY /vragjn,l‘_yf-l T.,‘Jﬁ,fg" 11‘/.;}.'(3;:..15'
b. non-metallic elements? ~t* b/ \ : X .q_rLLfﬁu'c.

c. Cqmpounds?osff =(b) Metals £ s b
::ns' mixtures?e T = Metals are substances that can pass
—— ) electricity and heat. Metals are hard solid,
Matalic | Non Compounds | Mixtures R except Mercury), opaque and shiny. Metals
- |Elements | Metallic have lusture. They can be beaten into thin
Elements sheets and can be drawn into thin wires. They

%

.'"."I""'"'I.I’J""""'}I"’I”"""""'I"’""'.
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have high melting points, They produce bell Iike §

sound when struck.
(d'//L.'!’l)_f_Gﬁl}rc_dl«fb/’/"n'dsc_cj’-u_.‘anl_}ld_'l(f oy
O U g Bt ot ek 2o p dwh oy 02
rnup;ll{m’un-ugEy:.gur,.-'u_:a&}uonéulﬁu /i

‘,u-'.d/"f"."T:’;"'-‘.'Ln‘r‘f.'{('—"b,"--f—
(c) Non metals: (£ in/

None metals can not pass electricity and
heat except graphite (carbon). They may be
solid, liquid or gas. Non metals have dull surface
and low density except dlamond. They can not
be beaten into thin sheets. They cannot be
drawn into thin wires. Examples of non metals
are hydrogen, nitrogen, oxygen, carbon ete.
Ct'JﬁgL_(cbr)m}’;lrt § chﬂ?:alllui&c.ufu;ln -
L""-ﬁ-d!‘ dcr:ﬂq_dxdufcuul-u_.‘ﬁ;x‘ﬂ.:)b =
Lkt ~E L kO L 1 L (1) 248
Mu?b:/.;y-!nwt’-- T bl d)
(d) Compounds: ./,

Compounds are pure substances which are
formed by the chemical combination of two or
more different elements in a fixed ratio. For
example water is a compound of hydrogen and
oxygen elements. |
SUL S L pruticnivz SISy
d’w?}Jﬂg'}FfT/VJJiq.-.f/-.gd&{J}LJﬂ'-u_? é_..a,vﬂ
<l

Molecules of a compound are the same. \
The molecules of one compound are different
from the molecules of the other compounds.
Examples of compounds are water, carbon
dioxide, sodium chloride (Table salt) etc. \
e AL Sp L gL net LR L S
V) P A T8k Qo LB B E

-
(e) Molecule: JA 4

The smallest particle of a substance which.
can exist independently and shows all the\
properties of that substance is called a~
molecule. A molecule is formed by the chemical §
combination of two or more atoms. For example=

- Hydrogen (H,) oxygen (Oy), carbon moxoide §
- (CO), water (H,0) molecules. A

-

H

al.a“(OJ:‘_mmq_Cf,la.-quk.Am'c.L,{us’;_u’f # A.

’ l'f-q.u.c.rllé:uf(ln&);»&»d < ug-q.t'lk'vz-olq_d/.
d&-(CO) T (02) J= T:((H,) U’uﬁﬂ{u‘é\
AU A (1,0

() Mixture: .7
A mixture is an impure substance formed
when two or more than two substances are
physically combined with each other in any
proportion. The components from which a
mixture is formed, keep their original properties.

§

Gl """"”""""’..
Sugar solution, salt solutlon are exampjeg
of n mixture, .
'flld"}“' VEJJZ:?ML)&.M})J? dné.gf,b't(ﬁl__[l,xr
VLS 2ot jr PGS S it T B
Y AT
Make a list of some common mlxture,'
stating what they are composed of.

el WL s wJ‘—QwaTrbg

5l

Ans;

—

Mixture Components

T —

1) Sugar solution Sugar + water

JHSE

2) Salt solution Salt + water

JH LD

Mixture of gases
e T¥urd

3) Alrix

Blood cells + plasma
bib+als

4) Bloody7?

Sand + cement+ water

5) Conc};t v
o Gh+eic 4,

6. Devise a method for obtaining salt (sodium
chloride) from salt solution in the school
laboratory.
L SunCadsr) e JEE GRIAIF
Ans: We can obtain salt from salt solution in the
school laboratory by the process called
evaporation,
-u_?éﬁxc.u(r/fwuﬁc.dyﬁjﬁgﬂd)zuﬁdf
Take the salt solution in a china dish and
place it over a tripod. Place a spirit lamp
beneath the china dish and heat it slowly. The
water will'evaporate and solid salt will left
behined. ‘

;.b:’.uf'll.'—-f é{{_.é.UZ{J&/&.W;}U)’YJ&JJE&.?

.ru_.u:ﬂJsb}.ﬁuMrz_l,}i/@.-,uucdg-d)}b.tar
------ Chapter 6

------------

Fill the boxes with name of constituent
gases of the air,

-ﬁt&u;{)ﬁm:féy

AN TN
Curbon
dioxide

S
Nitrogen
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1.

(a)
(©)

o
'

(8)

S S~

67

"”” 2ol

——h’..—’..ﬂ.
answ : ollo
wer from the rnllowlnq.

" f D
which of "h('SQ Rn{pﬁpbw‘-’mé’(}:d_"su‘»

maximum amount In Mr?ﬂ I8 present In
‘U.“\)U‘tﬁliﬁ'. 3
omrt'nc'-‘ff (b) Nn.rolzcn«u”i;’}::'”w“rtf‘/cﬁu'

chlorinee/ ¥ (d) Carlyg
nd y
Oxygen Is not nccesSary fé?;(lde j_fl’rTJUw[/r

‘?-Lﬂ’dn - ST
Rustlri;%{f:fl

Select the best

combustlom}')?‘_' (b)
Respiration "
Photosynthesisv Lt
Carbon dioxide is useq {n7

-~ <
e &'J"'.:L?L/L,/Jr;_;[,(wh
FekV” Y in air
- i rreased in y
et "‘"’"’“""’gc of €02 (€0 o1 iiculty
all nnlm’nl.-'z and human hcln; B Affected.
in breathing and combustion

. .,gr,j;,',_-;/b"ﬂﬂ/"
M ’ J 17 4 ()
é_LUIllkn'u}V'(u}‘—(’:';': J{Z‘:’{;—'bﬂ(j/&, v

1 in the
on duoglde ‘
Hlow can we reit‘ljc:éc}&/g‘/‘, Jis ‘ﬁgfol;(
air? fi = sor
Ans: During photosynthesis, D‘:;‘: ab
from the atmosphere to Preép ol
there are more trees, more CcO2
from the atmosphere. air, we

Therefore to reduce COz In the

2.

, ~FOnE ey, es.
Spft drinks =, ~ AT shoulji\li:oz(r)zor: ;—iduced during comb\:’ﬂon'
F;Iretextintg):x Ishersly. -.(W Therefore combustion should bé mjnimi?)r JLJ
Photosynthesis it R S [ o T e A
all of themv P bl 1E poiiert 1t &I
Which is true for nitrogen, § ,yutdljw(‘jziﬂinlé'd" ;,J ;;bztjble-(ﬂ-.’-‘..’
N Lo X e o TSt S L5
Used as dry ice g 0 YEPAN o phif e L E g brnk ;i’es Sre cut
Used s coolant v Jis12/__ru 3. What will happen If a. the

Used In respiration o> ¢
Used in combustion-ﬁ-_d)i:}frg

What is the volume of oxy

en and carb
dioxide in air?e s Tk T ‘;‘,’:

21% carbon dioxide and 0.03% oxygen.

I T 30.03 AT e s o1
0.03% carbon dioxidq and 78% oxygen.

J= 1,41678»!}_?“7615@;(”&0_03
T8%carbon dioxide and 21% oxygen

M‘MleJJ'iij‘lef@,(yém
0.03% carbon dioxidq and 21% oxygenv

I T Q21 21113600 30,03
Inert gases are not used in?

SAENA N

Electric bulbsut,.J.Cd‘S ,
Sign boardsiigL
Photosynthesisv’ .J,Jt'Jp
Weather balloons £ ysutify
Which gas in air is necessary for purning
process. -cl:.duf’é_:r!:igﬁ;(}%.kﬂﬂm
oxygencﬁ:r Tv b. nitrogen’s/t .
Carbon dioxide L T
argonyfT
Answer the following questions.

KB T sl il AL Tk L1
What will be the disadvantage if the
percentage of carbon dioxide is increased
in air?

Ans: Human beings and animals inhale oxygen
and exhale CO,. Also COg3 is used as fire
extinguisher,

WL S S Tl LSS T s

.“..'""""""'""””"

down? S AL bt o
Ans: Plant absorb CO2 from the atmosphere to
prepare food during photosynthesis. If all the
trees are cut down, then there will be no
photosynthesis and as a result percentage of

\ co2 will increase in the air.

bl L i ST e oL S S
Ling b E AR e X UI L
K lrnlin E¥CO2
How the nitrogen of the air is used?
' tetnd UK s i
Ans: Nitrogen has a number of important uses.
It can be used in the production of ammonia
which in turn is used to make fertilizers and
\ explosive. Liquid nitrogen is used as coolant.
One area for use s to preserve the freshness of
foods by packing them in nitrogen, because
nitrogen slows decay process.
&bl S ere e mL ot
‘,(2._':( S Pt g - bl WU 12 Ltoly (sl s
: -t
é;}'}l({)l‘/}'i_ﬁp‘f.ﬂzfclﬂ)—gb’dt"l&cﬁs/"l
et E PP e b
What are noble gases? Name at least three
noble gases which are present in air?
U2 (téuJJu,!ct'fc.ﬁmxm-ugmﬁ{juz
Ans: Those gases which are chemically inactive
are called inert gases. They are also called noble

gases. These gases are colourless and odorless,
u:—‘&)ffu* w:f}%,fi_q:z.x e s
In air, inert gases are Helium, Neon, Argon,

4-

5.

'U.’d-" -/.A'-ulsfz.g,:-?,t't,lf&

L’"""”"""",""’.‘".‘

e T T R T N R S O A
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Krypton and Xenon.

A.  Fill in the following diagram:

L L S S S

Lo ,_,.,_..‘f...,_,.,,_ A " L N [ J o A

Y \n)  table salt (NaCl)
“LELL“"J"/-}L'&JJ"Ulg):uf;'l.qu,(“‘gﬂyul,f. b) . earbon dioxide
Complete the given table by writting onea o)  Posttassium nitrate (KNO3)¥
suitable answer? Nd) Oxygen
-L‘,‘-_r;}{fdurdj,»w:;.dﬁyltunr.g: 4.  Which is true for saturated solutloz}

L _-/,M'_ J}";’K

e T T e T ] | el
r'-g-.:“j Nitmgen | Oxgen (_‘”‘_m Waler | Ny maximum solute at given temperature”

o Y A CX de vapos |\ wiisfort
sz | gt | el ]| ) G ffir
~— | e (L = b)  can dissolve more solutes ::g 47
mn:m.; 5 Ar | 0.03% | Variable =c) small amount of solute.:f»‘[x.(1 .

0 .5 | Nd) further added solute will vanis )

...«r::u 0 { _(u,m)’?‘ l,t_/leJ’:.f

l n tance is?

Dea As | Beettirg | Protosynthisié Rain 55. Water Insoluble subs ?+L1}Jt¢dt

i |femiizer [} 2y 4 Y G s

Iy i PR Soune i ) salt ) b) sandecsY
As | Stur‘r:n( Fire . \c) cooking Ol](xﬁ—-é d) milkes
eadart | g L2 | BRI gy g 6. Aqueous solution is formed by dissolving a
& A b substance (solute) in __ |
X -?rww»w/fﬁm—mr
a) alcoholfi ~ b) waterglY
...... Chapter y S H el oilg):ﬁ-—lé
SOLUTION AND SUSPENSION d) vinegarJ . o
~ - k7. Wnhich is true for suspension: )
g ) Jslae e ol P
...... EXERCISE.... H a) Solute is completely dissolved in solvent
PN I

_g;fu,‘éd;(;r;,_ﬁ,;‘b-@,,ib) Solute is not completely dissolved in

N solvent .
( i AT
State of solution) ¢) Solute can be seen with human eye.v

AL g d) Solute cannot be seen with human eye
Solid ¥ quuid duj Gas ) \ Sl F

C. Answer the following questions.

szl e ) 5

1. Differentiate between suspension and

o ) (oo (e ) |t R

B. Select the best answer from the following. A solution is a homogenous mixture of two

L

a)
c)
d)
2,

-2 ve U Y or more than two substances. The component of

Which of these are comp‘l}e}zly so"l‘yble iny solution which is present in smaller i

. 2 : quantity is
water? D 0% FUL2 =t} calied solute. And the component which is
sandsc; b)  cooking oilF¥i present in larger quantity is called solvent, For

!
waxfr -} example salt dissolved in water.
table salt (Sodium chloride) L¥L v = e bl (e 22 UF e b TSAL ¥l niu ¥
A solution is made by dissolving some salt § Mot Je-t a_’ Jb“___, b e U Az " 2 |
lnabeak,e(:gr water. The salt Is referred as H A "t ik et J’{G ;L;\;_.
S p B f o
ad— gy s-n.-swcfwf-ﬁj;z@asUspe,.sionw

a) Solutel) v b) filtrateic/
) iy y A suspension is a heterogeneous mixture

¢) solutionJ¥  d) so
J ) lvent N of undissolved solute in a given solvent. The

Solubility of which of the following\ :
sibstance increases with inerease In \ particles of solute are bigger in size and can be

‘temperature? Y seen with human eye. These particles settles

- g § 2 down if suspension is kept undisturbed for some
e red '
Ore-Lbrfrly ¢JJ‘5‘/ \ time. For example chalk and sand in water,

LAY AT Y v T L
" T LT LT T L S A T T 5 L T T Y T Y T 5 L T Y T A T A L T B A
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34 SN (1 P PTH W ‘ vy ‘-jva T4
pAELVTE U uaa fy, o R Lin" Sartuort S ESX P Sed
a2, o p 2 ; s . k. 2 -
A Lt T / f,;.‘w'( B N N TR A D= -Lﬁ‘?—{
what will be the Berdvamages 1 e b jons that
L " n
pot 2 universal eolvents 08 i wate. wae ) e Make & it of snmé COMMON aonlut ot they
. . ' ' ' tate W
“""'l”k' :t*...ll"’ r’b G 7 you uga in your homse, and ¢
. - ..' ’ "l
e:water is enlled the ' e KU W Aré mada up af?
n: “i\rrkh] £6lv y P

necAUSE MOTe SUDSEANCES tigg)pp in w

in ANy other liguid, 1t MeADS {hat :'hrt

water FOCS, EIther througy 4 (water v
ne Frmmd (rivers Streams) OF thro

podics (blood, rpod), it dissolve ch‘lﬂh our
inerals And nutrients, Emicals,

If water Was not & unjvergq) 80

ent
han
h(‘f?\r(gr
Apours),

Ivent, aj)

b~

Qn

S(-)i{lﬂflnﬁ T4

'K_r".-,fn,(.‘;f/h ,.:_/.,L,LJ,,,__(’J.-

,~M2,le"J"M‘;/
f¢-

B

Componeantd /7

(1

Salty water Table galt + water

(ihSugar syrup

S”g‘ar + water

gubstances would . (lii) perfume erfume + alcohol
:::;i :;t:‘r. ould not have beep, dissolved X (1v) Ar gases like Nitrogen,

' ) - o inc + Copp®
.t_iu.'ik‘&"Fé-—"‘.ﬁadﬂ"-ff:fq_ﬂ_.q‘g_w N oxygen CO2.Zinc P
ét’)l—\,“ﬂt'f—{;b L(GUVGQ.@.!VLLL 2 J;,' ‘} ,,,,,, Chapter 8.

2 Suiale )a(’-’glhg(zy:;.d,)c Lot :uu: ...... ENERGY AND ITS FORMS--
- ~Uilm "z'Llﬁnlh-_, P of »
L2 Lt SO bl Sl 51 SU1 53
‘Yhyrv:efa::epiﬂha Packet of sugar to} ... EXERCISE---
Oy or n hot water than ice chilled\ A, Fillin the blanke. LN Ee (A)
. (e 222 YLT, - b 1)  Energy is the ability to do work
infudedl Qe bdie Sl LS e Sl LS LI )
" %< \2) Energy possessed by a body due to its
ans: The solubility of SUgar increases wlt:ql:h position?s called potential ene
temperature. The reason is that hot water\ s tfuf Wﬁ) W@

molecules have greater kinetic €nergy than that
of cold water. They have greater ability to break
the bonds between the sugar molecujes.
Therefore sugar dissolve quickly in hot water
then cold water.

SALY e o nfie s ke Lok Zon i S §F
LE LY brulikd BL AL Y i ftiinf
LY E e Dotastic oS8 3T 2ar it ud

~-Unfilbk bl Ly

4 How can we convert an unsaturated

solution into saturated solution?
St NS et A AN p i
Ans: A solution which cannot dissolve more

solute at a given temperature is called saturated
solution.

b e in:y; S irpeizamso st I

An unsaturated solution is one which can

dissolve more solute at a given temperature is

called an unsaturated solution,

'”d"(fl)f;f{&/'f.}l)(fcU{ﬁ(ﬂ?t’ﬂnd!‘{ll}ﬁ?

We can convert an unsaturated solution

Into a saturated solution by adding more solute

¥th constant stirring. When the solute starts

 Settling down in the solvent, the solution at that
Point is called saturated solution.

',
i

§4)

One form of energy can be converted into
other form.

< Ctrztemltntif ol (3)

Food possesses chemical energy.

; < Oedid? dL 2id @
\5)  Sound and light are forms of energy
-ujgbeMG’le:T (3)
B.  Selects the best answer from the following.
-’éyﬁ:‘lb’?lﬁw}:‘;gﬂi e (B
\ 1) The main source of energy is ___
P -y N _zujlz‘-_./!’(jt!? (1)
{ ()  Sungurv (i) Waterdl “
(i) Windis (iv) magnety~t=
: 2) A moving car has energy
N DS 91— u:,r;;,;;'?".g (2)
V() Kineticd”?v (i) Potentjald
! (iii) Tidal:zu (iv) Solar
¥3)  Which one is not a form of energy __
= ~c;-d~‘)dt'7 ZUJ/C-&J_’J,,vP (3)
4 () Heatess (i) Light(w
V' (i) SoundnT (iv) Lampe£v
{4) In a battery, chemical energy is changed
into
= O L e ST GG (2)
E () Heates7 (i) Soundinl
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(i) Light (s,
Answers the following questions.
Szl n)ine (C

electric fan Is turned on?
Ans. T 0T V2 i b e L2
. 5:When an electric fan s turned on, electrical
nergy Is converted into mechanical energy

Which is then converted Into kinetic energy of

ey,
vy,
'q"".’.r"""q'"

(lv) Electricalgev |

What energy changes take place as an\

60 _
‘G Chapter 9...
\ ...FORCES AND MACHINES:--
\ prizdie gl O
I e EXERCISE--
=A. Fill In the blanks. “E e
Y ) 'I‘herea:eg_igtypesofslmp!emach!nes. .

\ Uz Jutal

b

A combination of both fixed and moveable

the blades of the fan. N i)
Lé;/(nldﬂ(.br'u:Jﬂ.’di?cJti?dz];_rI,qfc)ﬂ‘él’t.;-‘-,—’.a pulleys Is called com ound pulley.

¢ Onatdunfnfus § aZ E[Jﬂe.-?-é,lufﬁw’u

a (i) The dlameter of wheel is Greater than the

bty e Pl pipVs,

2.  What Is the difference between kinetic

energy and potential energy? diameter of axle. -¢
' T;-J/'E(JJN?&'JHMI \ (lv) Wheels with teeth around them are called
Ans: Kinetic Energy: Gear -.;_rUf AL

Energy In a body due to its motion s called § (v) Gear can transmit force to another gear,
kinetic energy. Moving bus, flying bird and .q_t'ff.f[a.ﬂfai /
blowing wind has kinetic energy, B. Selects the best answer from the following,
Cl S SF & JNPJI/JH?;:!:::—-,»J .JI‘).‘.(-'J/:JHFJI | WU e LSS

.q_dnJﬂMi’_ﬁ'ﬂJ:fJ]"n’J(lﬂ 1. gear dllsn ustcl:d to turn both the gears in
Potential Energy: the same direction.

The energy stored in a body due to Its _4_1-,;‘)&19_;"}_1/{;@45.946,,@/
position is called potential energy. Stretched a. llder gearv b. driving gear
rubber band and stone placed at a helght has '{ ¢ drivengear  d. noneof them
potentlal energy. 2)  Pulley Is simple machine used to th
Jfé,:l_?a’dﬂ;ﬁdﬂ}duéxﬁ’:—gl,‘(rc-;ﬁﬁtffdtl;d’ objects jd’fd“""é.!---"-'""fwzlf-l'ﬁ’vh-{li

e Onbuif Ayt (2) Movedl /7 (b) Liftlulv
3. Conduct a simple experiment to show law } (c) smpv’L . (d) Rotatet
of conservation of energy? 3) Afagpolels :an example of -
2 oL Sure i o leed-;%:ﬁt" TS LLJy Lt (i
Ans: Experiment: (b) moveable pulley ;
1. Take a pendulum and pus it to m‘ake :? © Gear % (&) Wheel-axleling
R "‘{/ by H“e”lf =) C. Answer the following questions.
2. When the ba_lljsi(novmg. !tffﬁj}:iﬂnmc" VJ‘ url it ime
energy.  -¢UnltAARUIe A7 K% phfe VPS5 .
3. When the ball reaches its extreme position, L Differe?tlat; betw“"g’fﬁ‘f}ggr d:n/,d
it stops for a while, therefore it K.EY moveable pu fty' -V Sl
/ , VLoD s 3P LGt s If the block of a pulley is connected to a
Jt P&‘f#—wﬁ;r‘ o’ e o ,5'{( J({Jw‘), fixed support and does not change its place then
4 At ext ition, Its ener ift- ofall it is called a fixed pulley. In fixed pulley one end
' s . d Y} of the rape is attached to the object to be lifted
potential because of its position. d effort is applied at it fr 4
dlflfu\}{:-—” t‘f"'l'{J”;\ﬂv‘i/(u'dlf‘ an e-o applied at its free and. )
e HCOPN (b 038 Lol Saie U pAAL s SV
5. It then starts motion towards the mean y f & Y il *At' L ghttflf
position, therefore it has kinetic energy.  {”"” gk (LML LN Jl:u:ﬂ ;
S Bk it 14

Jx JNPJ}& N& le e/ 6:/‘_-)’]..5)0/ (e (f': Z'-Uf &

5

As the pendulum is swinging, the energy is
continuously charging from kinetic to
potential and from potential to kinetic.

J&U&c-u’rﬂfc- 1 thﬁg. et (/,:;'4-4 .

<

e e e e e e e e e —— — - —— — Y S S W S T W

a Moveable bulley: d.f/"’

When the block of the pulley is not
.connected to a fixed support and the pulley is
\ free to move then it is called moveable pulley.

e In moveable pulley, on end of the rope is
connected with a flxed support and effort Is
\ applied at its free and. The object to be lifted s
' - LY T T BT T ST T T AT T ST AT S T A

| o d o

:
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’””’.’”.
;mm the block of "“:;l:l.l:}, T :ﬂ
WL ISL Ty

ey vl Ji

3 DTnle bl af

o_./,'(«—/: ¢ Acr_,_,k,_le.' " ‘~L}_?r:

‘ ~PeUnle gy o J:fﬂ'“}uf'

2 et the characterigye, cﬁua.-';'dk'

gear

Ans: Characteristics of Gears; TU.’L&-_L‘)“*L('Z[

Gears Can transmjy ot

Totatlona) fore

AOLAST BOAT IN the same qireey
on

opposlt;? direction,
oS E P s, s

The size and Number o Lo
determines its working, teeth on g gear

<ty "J;JU)U:”!,‘{W,

e to
or in

Wenss
8

Teadiops fi

s i o

—~
"t't’n’n‘;r’nbcr of pulleys
1€

trort I8 needed tO

/Luﬁ-//?'"‘f v

J /-_,;1'/11. s
&?:.«fdﬂf-‘d""”

gears make
to transmit

heavy load, The greater I4 .
In n pulley syatem, the lesser ©
1L a load,

J-U‘Uhr,'_/}&r(ﬁd_u_ﬂfrlﬂﬂffb
&L yne eSS LW -F

Gear system: rlﬁif
A combination of two OT .

A gear system. Gear system is us ”
or receive force and motion.
drives another gear, both the g€
the opposite directions. If 1t 18 BE
both the gears In the samet :“;:cﬁo '
third gear is fixed between them. / Lie- 142

S of o oWy e e ALIFVEE )
fufl/:'uiz’_.dﬁrwf-,- Gew / &ny "d/,:&—""g

more

A force applied on smg); ;f.ﬂhﬁéf]/}.rb/n ALl s ;_fu ;f
}a;g: gear slowly byt ¢ ;ﬁl“fl‘;::r:r:t;: tu::fz&uduﬁﬁ%u:tifﬂ';g bf";{ fﬁﬂ; 7 o
orce. 4 -t A2 Bl

,,}p»\ﬁd‘gg thfaWt_z,]ng@;{ /.(L Y f'} ...... Chapter 10..- ;

3. ‘The speed of the driven shagy 4 -q-dni ...... PROPERTIES OF LIGHT - .
the number of tee? in each gear pends on= olias aas uS U'*‘:' 9

~g-brgals) u)u»uwb’h&iﬂ; S\ B SE

Which type of simp| 0 T EXERCISE---- .

> used to lower andp|:3ﬂmachine Would beX A,  Fill in the blanks.. -f{{@qub(A)

water in a well? up the bucket of\

:Wheel and axle is a simple mach; is §
A used to lift F bucket of waterli];n: :Jv;if:h ;. E
ﬂ!l_/J"”é.:(A'n{” ':Jd&ét[féq_u:.’”[,_gyjl,‘,'#
4, - Write some uses of a wheel and axle jn ;3;

daily life? -ufd:aUlPILQ Lol G St pis \

Ans: Uses of wheel and axle: WL e prle y
1. The steering wheel is a common example

of wheel and axle. =
-9-0!‘»»9(.(;/‘,”:%.!,}'5’6:(

2. Screwdriver is also an example of wheelh

and axle. -q..db L/mlg‘u‘{/ A

3. Water taps also has wheel and axle. : i

~¢-bnazr\Pinl g WL E L\

4. Wheel and axle is used in bicycle, g

- bnlipin g i SN

5. Wheel and axle is used to lift bucket of \

water in a well, ) E

bl (L L2 B3 ey |

5. Differentiate between a pulley system and |
- gear system, -z;fo)¢rw£;5,:(w£¢

Ans: Pulley system: }

A combination of both fixed and moveable §
Pulleys is called pulley system. A pulley system \
reduces the amount of effort needed to lift a

:

An instrument used to see distant objects
is called telescope.. ,
3 LKz

bl fmd £
S

Speed of light is 3x108 m/see
= 3x108m/sec
Image of formed in convex mirror is always
' virtual and errect

-q_(?..g:’ ﬁyul('iJlf):{;.uJ};:TyI
Image formed by plane mirror is laterally

inverted. ) ,
-q_&-ﬁ’(.?'('/i[-:'xir_ub(z.ﬁd?
The angle of incidence is always equal to
the angel of reflection. .
-t glee JEINI2AD N
Select the best answer from the following.
-2?.:\:4?' r\r‘ﬁU])fG—(ﬁdj.?Jﬂ
Image formed by convex mirror is always
-‘,‘-5” T }ﬂ;,'élfyj

1.

2.

3.

4.

5.‘

0)]

(a)
(b)
(c)
(ii)

Virtualiyv

Erect and large $xx(fx

Real® (d) inverted('!

Concave mirror has the capability to
a parallel beam of light.

P g PSP S ET 2 (i)

Convergev’ )‘/ (b) Diverget s

Dispense/ (d) no change U}~

A microscope is an instrument used to

produce a _ image.

..................

(a)
(c)
(iii)

- 92
""'."""""""”"" "”"""""""'."""".
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Pt o iReITUI
() Largc/dzu« (m :— | \.-£| '( Y i
© 8 sSmallgd
\ OT\JV (d) Farm
() Which one 1s not n rough surface?
” . »{_u\)ulh"t;ﬁtdy(c_ufdl\u o (Iv)
Paper»y (b)  Wallay,
(c') Clothn)” (d)  Mirrorv 7
(V) Mirrors used as car head lights and search
lights are
(®) Convex..s (b) concavel'v
() Planey»

C. Match column A with column B.

..””.. A s e,

AL A

Coandl ot ol

(d) allof them(ﬂ

Column A Column B
Multiple reflection Two plane mirror
Vs> \ | / Z TS5
Periscope >/ Kaleidoscope
& \ -~y
. I Ik
Microscope Virtual image
wHA T A
Pin hole camera real image
sl T 3
Convex mirro Virtual image
S~ 1 26
D. Answer the following questions,
-u.'d :;Q'.R):..:al]lrd'_ Josur
1. Compare the images formed by a plane
mirror and pinhole camera.
-é./'f(g/{iJrz:l/dl:L;.LTdr"
Ans: Features of image formed by planeMirror.
el (UL E T

1. In plane mirror, image formed is always
behind the mirror. - (' S L LTS RET
2. Image is of the same sjze as that of

=3 d:uLcL 'g; _/(Afg

object.
3. Image is upright and virtual,
-t dnd;lml(fy\f‘
4. Image is laterally inverted.

- d)fDJ‘(JILA’I U;
Features of image formed by pin hole camera:
ub;"Jféc_/ﬂJr
Image is always real. ..;_dm{-':»ﬁ
Image is inverted. -c..dnu":
3.  Size of image depends on the posxtlon

A

theoblect. - (g6 K=rla]
4. Image has the same colour as_that of

object. -q_d.n iq_dxd',- /JJg
2. Mostly people wear white clothes in

summer and dark clothes in winter season?
Given reason.

BE AL L f Loty JL st/ TN

V-

Ans: White colour is good reflector and bad
absorber of light, Therefore when we wear white § .

-

"'.’.ﬁ"”’.””""".’.. o,
clothes In summer, we feel cool,

LY gl PSSV II i
-4-dndr{fmf' f—e’ﬁwd,fz-/[.sﬁ,d@(
And dark colours are good absorberg anq
bad reflectors of light. Therefore we wear dary
colour clothes In wlntcr They keep us worm,

-r/u’c.;)z_ur,um,fyq_rnu;wmr,,_:,, ”
/(/(':.;’Jui v Ju_/‘;(rﬁd,/(&‘

U
Differentiate between the transmlm°n
absorption and reflection of llqht.

//¢J(ul£mzl,l,lxn.¢/ )

3‘

Ans: Transmission:y
Light passes through transparent objects
easily, for example glass and some plasti,
sheets. We can see all objects on the other siga
of the glass windows. The passage of light
through a.transparent object is called the
transmission of light. Light cannot pass through
translucent materials e.g. tracing paper, wooq

d’é{!ffuﬁ!{n'f’ﬁ".q-u‘c/C—dVT‘-U:U’Z'—’L’Ifu
uyJ'}l((_JfJ:.(ﬁu:.ufu:j..!lé.u'éﬁfwzhgbd/ué

-./,d}‘«ﬁ..ﬁ')ll‘/ucfgﬁ’:.rvubf U3 u-u'{
Absorption: /1)

“When a ray of light strikes an opaque
surface some of it gets absorbed. The energy
from the light Is transferred to the surface
material, This transfer creates a small amount of
heat. Such behaviour of light is called
absorption of lxght
It C’Je.mé::]&ﬁ; dlo:fu»?{..d')é.é..’b’/{fuu

B NEA PN OtV i Jon P
Reflection: /i

When light falls on a smooth shiny object,
like a mirror, it bounces back in one particular
direction. The bouncing of light is called
reflectlon of light.
U’u-c.dfo..«:'u-'uf.( (7 dyy

vy

dlc‘g PN (fu.-’

Prove the law of reflection through an
activity, Sk LGS AL SO
: There are two laws of reflection.
1.  The incident ray, reflected ray and normal
to the surface all lie in the same plane.
2. The angle of incidence is equal to the angle
of reflection.
We can prove these laws with the help of a
simple activity. .
Take a drawing board and fix a white
paper with drawing pin.
Place a mirror slab xy (fixed in standing
position) on white paper.
Fix two common pins N and M obliquely in

B LT L T LT LT 8T B £ LT LT LT T LY LT £ LT £ LT LT S L £ K BT £ LT LTS

L"’""”""”"""”""‘
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front of mjpy,
Orin - 63 ———-——!—"::‘
Look the ’Inn["\ (? Q'”"lthtr lne e -.‘v..pppr"”’!’g!r"g—.’.;{'p;
fix two more oMM Sty Mitr 4 At F At lf'mll 4 Inverted
AS Way that impgy nf" PINS Q it gy gy g ¢F LY and very
) A" n oy '
Qand R lie op 1, sml ! 'r:lnu M ang ,";l': lm-v,e.l 5
[ s ht In . oAl ! ‘
e, dz
virtual,
N b Hetween F | Behind the errect
‘ Wy and P mlrrO‘T and very
f%\m Ul P F | SLET large
. vt e 1) » JKJ 24
oin Points each =
XY (MirTor) on pojp 5 M. Qand R wigh e 11
raw a 0y Chapter Li-
Obser\?em.;nx:u N Point p, eCiames SOUND
incldence Npe, ERSUre tpe o INVESTIGATING
with the nom,afhat incident ;18;8 o ‘JT
Oms llllll J """"
e
RPS that reflection RPS ?t:g:;e of reflection EXERCISE--

QR forms with the Norma)

_EJufde (B

Fill in the blanks.

Concl - A.
onclude the regy)q. N1, Sound waves cannot pass mro::}h %C,yu_;lﬁ;. 1
. - e o
Sl nsSs s .~ s a oot g
v ”{dm‘gu‘f”a’vﬁ’ Cb#cgf(,:,g i 2. Sound is also a form of ene »
£ o Tily St 5 s ~\ -4 L S
L ‘u.:J zbfduu’é'scd&uui g Y3, Human ear can detect frequency from 20
U Yesafus ’uﬂ:’bﬁ»,w,,,d, 2 T \ HZ to 20,000 HZhertz. .
, - rafd,:f:?’.’ LOIN CrhunTongb) By 20,000 =55 20 KM
-u_’ﬂb")‘;‘jm,gNJ,,Mc&fmé:g‘# 4. Longitudinal waves comprise of
b)«lRuch;uu:.g(ﬂ P /L;u. «ffb’u,'ﬂ i 'uﬁf:-’f H compression and rarefact_ion, PRT.
. Unbhn LT U 30 S,
PRI u"! o, e o w"gR’"QIU.’ g \s, Speed of sound in air greatly varies with
AP RRI-L AP B e P L o 15 = temperature
-y e | G mxl L2 BnmlLin
Pl'OjeCt work \B. Select the best answer from the following.
Complete the table while using concave mirror., i 1, Sound -Z.'TEWV?:U’J" e AL is
. - i Jug J_J.,m'ac. Jel La_-:f,b = ‘ ound cannot travel 32;;? = w2 o
S.no (I).g%ittxon of ;.ocation of  |Nature of (8 Iron ™) -‘i;v bodif?
m i d
fju‘rf)' 1_ f;‘%/e 3;‘5;; (c) Waterg} (d) Vacuumv,¥
2 2. Human ear has distinct parts.
1 |Beyond 2F |bwFand2F |Real, I YL p—ry {1 ¥
& 2F Wnd 2P F inV:lrlted. (2)Four (b) Two (c) One (d) Threev
fmal . N3. Speed of sound ____ in air with
d"v"(!"'tf-" increase in temperature.
2 |At2F At 2F Real, sy e x Ll LT
{ 2F { 2F inverted (2) Increasesy’sv (b) Decreasese- (s -
equal in (¢) Remain samelw 2217
size i (d). Both (b) and (c)
'U""tf? 4. . Speed of sound in Iron is 0
“L‘L:yl). _‘¢_ .................. /Dj&’jf‘ﬁ{.) (iV)
3  |Between F |Beyond 2F Real, (a) 5130 m/sv (b) 1530 m/s
and 2F &L 2F Inverted, (¢) 3150 m/s (d) 1503 m/s
Ul 2Fn |7 large _ A5. The sound is a form of energy which travel
' Sred> through any medium as

B Y O B B 7 7 7 7 (7 7 [ L7 7 5 2 7 T T T BT LT T T LD T Lo BT LT N T L LT 5 £ LT T LT ST LT LT LT 8 T T T LT £ T 5 2 557 0
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64

L A L 7 0 7 8 A Y T T Y LA VT A M T T T L A A AT T T T T ""II”"’_"'.'""'.
< d’)}@f& .......... LS e NIARL ;,-,,117,(;, T ( E’ ) U nlg-1525m/s Vs ST (G2
(8) Longitudinal wavesY Uzr)s -¢-5130m/s
(b) Transverse waves UznS/ 4. Explain how does human ear z,c(eiYest?gn‘d |
(¢) Only rarefactionip waves. uf.:;u:.u_fd  fusiTu¥dui
(d) Only compressionj Ans:Human ear has three parts, the outer ear
C.  Match the column. -u//B/U/¥ \ the middle ear and the inner ear. Thehoutez'l ear
Sound T N\ ‘ |20Hz- 20,000 Hz collects the sound waves and d:',;t;zss tvigr:;te C::g
Eardrumegfo¥ N\ | _JXp soundysfd/ the ear cana.;ltone;l;g:;:n .cgri:;ese vibrations is
Energydt?  —>&4Soundn :::tir::]t.h: Srain. The brain interprets this
L3 /7 Nluman earyJUi massage. Thus we know the meaning of the
Human beingyb! Longitudinal waves message. o ‘o
Vird? Sinle Jw-duﬂu’dkwdw-!/-’ e‘fﬁ‘”,y gt il2
D. Answer the following questions. J Lt /‘}?,,_4_;{.‘;£dw¢fl£/ ufwrf/u,/
_u:‘gp,zz._-,m,wew frﬁ ;,JJJ 1.yt L »(Ear Drum) f}”ﬂ Ule g _:nz:
1. Prove that sound is a form of energy. Ybbul q.-l'/dw'f (o oYId> ¥usd /JJbT_ugd/ 7
o Pelif Szl Seat _wzi;frff;l,fmﬁo)gfu,!+rfyuuf(gm};_-f
Ans: The ability to do work is called energy.\s,  Make a concept map from the following
Sound is a form of energy, which is associated OIS, N St it
with the vibrations or disturbances of matter. Ans: Gas, Sound, Liquid, Solid, Water, Iron, air.
Example: A guitar has sound energy because -'Jf'“'d&'lf’)'ét' ),,T,U-,f
when we strike the string of a gultar, it starts
vibrations. The vibrations of the string push they ==~ Chapter 12....
air around back and fourth. This vibrating alrg SPACE AND S ATELLITES ______
carry energy from the guitar to our ears. They ,
cause vibrations in our eardrum and we hear the cJL.l.-‘" ) JI DA
sound of the guitar,
WA e i B EXERCISE - |
e tre P Joifin\ A FillIn the blanks: ke
.-,r}a,,.z,r.f,r{a,;aw,%m.,:f._f)}zwza SRR S 5 T G R GOy
2 al:l;/lc}f.q.dl!ful’:_z tﬂ»'q.d ..-/]"'_’_; Tyt s
..;.Q:Jl‘z]bfﬂﬂf_ﬂgm}a/&n{rur; .{..t'lg __..'{Eq_?;‘:/ L"’M"ZK "g
2. How sound is produced. Explain with 2. Polar satellite provide weather
examples. Serbe Joe ik at information and map of ozone levels,
Ans:Sound is produced from vibrating body. If -yl / (7'/-'““’-"'l;‘-JQLJZUJ"/"f’L&@'
there Is sound, there must be a vibrating body.}3:  The speed of geostationary satellite_equal
For example if we strike a metal pot with a to the revolving speed of the Earth,
spoon, a sound Is produced. If we touch the -?-d”“‘LJDJJ&/Lt%JJDJJJWQé".‘y?uf
metal pot at that time, we shall feel they ¢ Navigational satellites pinpoint the
vlbra:?;ns of the pot. i location of the object of the Earth.
""(" /”/.Uf":!f)”f LUk dxlgc.f’l};/.b.{ibf -u_?éfr it lﬂJ{L'JJ'/Uj{J}ﬂauJ ( gub‘ﬁ-;ii
Jnlle:Tam?¢ 6.,/':_&61.,}:]‘8(,,.&1(% L e\ 5. Surveillance satellite is used to monitor
-é./u/fauﬁllulf;\ﬂ,{f@_.;,&,r: e the military activities.
3. Compare the speed of sound in solids, 'f""'d"‘:".iéu‘fu’tfuzf/\ﬂ.:flk",é,ﬁ v)
liquids and gaseous media. B.  Select the best answer from the following.
: -QLJV&BJJ)I,TJ%C,]&‘,J} °(Z/~r?'r~r'lé‘(;-:4'l£c'-)
Ans: The speed of sound increases with the) - OVer ___communication satellites have
elasticity of the medium. e.g. In air speed been launched since 1957.
of sound is 332 mys. _u_@_,éu:,,,;w,_, ) /-7 FLlen1957 ()
D T e Poe Pre by B Ja @V 100 (i) 200 (i) 3004 (iv) 600
-e332mis 2 —satellite is used for mapping land.
In liquid (water) speed of sound is 1525 mys N A1 S p— )
and in solid (steel) speed of sound is 5130\ () Sputnik Fx (i) Explorerusk=
mﬂm (i) Landsatvers’ (iv) Polar/y
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3. y Y orbit yg f‘xnor - = ””””";‘

. & by oy v nl YA — -~ - o ( oS befods
e N ... YOve . L —
y North W‘“‘J‘i;*" arar »f"f;'...'-?"‘ F - ‘"A/Lb‘;?r;r/,cs. They

(m Equaton® iy 7 They aire used for alfferent r:mn industry

:ill) South poled i .6 (v Play a vital role In communicabizre

M Halley's comet "“N‘n:s "mmufdf military ".I"' selentific atudy, L,,J"?'gi"“jf
overy vears, nlmmxlmntnly ("'Lﬂ»‘ﬂvg*lm'd,“d/)h.:all"":-‘f _U:Lﬁ)'/"/

=iy s, Comets

@ 76 () 600 ““)“;’;;0 lAu """"" LAt k)3 Differentiate between psteroid
Answer the followijp V) 61 and Meteors.

C. 9 Que:[tlons. Ans: Asterolds: ;.1 bodles of different

scribe th S L7 Asterolds are rocky boO They

3 ::ace_ % SSatrop Various satel:’l‘:g']' slzes that are members of the solar sys;;:;-s and
Uses of Satellites.c. s * I"Ymove in elliptical orbits between

ME eather satellites 1 = Jupltgr. ) Y2 st

y, Wea ; Ltej :.l-flp In weather forecast ..»mjﬂm_mmu_rz_nl..:/lzﬂg-tﬂ Zrf _‘f'@bﬁ-’:}
Navigatlon-al,; t LU N ALl ol 7 s{g;n-e

2 ion of atellites npoint ¢ There are about 100,000 asteroids
location of objects on the nt the 000 kilometers

gLl L g A f;art ) gsterolds have dlameter upto 1;
e TRt L ut some are very small in diameter.
: Lo - .

3. Teleciomm:nication satellll{es h;i'-’:c‘ “""‘c"a-q-?niﬂﬁw-g)’ruz/yf-%’fuhﬂ‘_/f""""{
carrying radio, T.V anqg telephone g P in gLl plries
over long distances, SIgnals\ corete: e stifs 3

MLL'L"Eu}lb”“f‘}zw‘k”’d!d'ﬁaqwg\é S EN Comets are relatively small, icy celesti:tl

_ ' UL éJ - \ bodies revolving around the Sun. When 2 ?omhe

;  Surveillance satellites are used to ot \ approaches near the Sun, some of the ice in t

military activities, onitor \ comet turns into gas. e T 2
-w-’-&édwsg’;a;ﬁuﬂ;@yw " gJfgeuzaﬁféb/rzurl.:fbzld.lﬁé_-:cvz._-f.'(‘»:’ubv(’

s, Some satellites are used for observatign 2\ - b AR 2 T e ot PGSO

other planets, sun, galaxieg ete. o'\  This gas and other loose particles freed

u,é Jb”'éébfl‘fé Uj%ﬂ(wnu::.lr(_ NI ¥ o H

-

9. Define satellites. Classify the satellites into.

its major types.
-Zf;lff’-eﬂl;w‘}(’déqﬁq S fS, ‘”’P'H
Ans: Ans: Satellite: ot~ '
Any object which revolve around a planet{
is called satellite. ,
| W b s
Satellites can be natural as well
artificial. :

i
as\
S EASE R E S 85 s
Natural satellites: e85
A celestial body that revolves around a\
planet is known as natural satellite Moon is thei
natural satellite of the earth. Some other natural §
satellites are asteroids, comets and meteoroids. i
d/ﬁb’cﬂill'--q.l'ﬂ/ s d/ﬁq_(?)gfﬁz,_/ydef' SLBL
St lal
Artificial satellites: ../t A
An object launched into orbit by human‘
beings is called artificial satellite. it revolves |
fround the earth or other planets
'Uﬁ{ eI d)"“’:_l?q_ﬁf"(ﬁJULt_Jl_r

L

'2l

SRS 2l i

from the ice create a long, luminous tail. In
space they look like a bright ball with a long
shiny tail.
ool th_fpﬁl.ﬁ?‘g Ltlwe JSoaoliie % w’gf-:f
: -QLW&ML(SJ’-QJ:VL Ll L
Meteors: Jik_|* ,
Meteor is a small solid body made up of
rocks and iron. When it enters in Earth's
atmosphere it burns with light making a visible
track due to the friction produced by its rapid
motion. Most meteors entering our atmosphere
burn up 50 to 100 kilometers above the surface
of thq earth.
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